Airflow m*/h (I/s)
Model 40 50 75 100 150 200 300 400 500 600 700 800 900 1100
A [m?] (11) (14) (21) (28) (42) (56) (83) (111) | (139) [ (167) | (194) [ (222 | (250 | (306)
L 21 27 38 45
KH 1 slots L=600 Verr 15 19 29 39
(0,0072) APt 6 9 21 37
102 27 34 5 66
Lon <20 25 32 22 50
KH 1 slots L=1000 Ve 12 18 23 35 47
(0,012) APt 3 7 13 30 53
102 25 37 49 72 96
Lon <20 20 27 38 a5
KH 1 slots L=1200 Ve 1 15 19 29 39
(0,0144) APt 2 5 9 21 37
102 22 33 44 65 86
L <20 24 34 41
KH 1 slots L=1500 Ve 12 16 23 31
(0,018) APt 3 6 13 23
102 29 38 5,7 75
L <20 27 34 a4
KH 1 slots L=2000 Ve 12 18 23 35
(0,024) APt 3 7 13 29
102 32 48 64 93
L <20 23 30 a1 48
KH 2 slots L=600 Verr 0,9 14 19 28 37
(0,015) APt 2 5 8 19 34
102 22 32 43 63 84
L <20 <20 28 35 45
KH 2 slots L=1000 Ve 08 11 17 22 33
(0,025) APt 2 3 7 12 27
102 24 32 47 62 9,1
L <20 23 30 40 48
KH 2 slots L=1200 Verr 0,9 14 19 28 37
(0,03) APt 2 5 8 19 33
102 28 42 56 82 108
L <20 27 37 a4 50
KH 2 slots L=1500 Ve 11 15 22 3 37
(0,0375) APt 3 5 12 21 33
102 37 49 72 95 11,8
L <20 <20 29 37 a2 47
KH 2 slots L=2000 Verr 08 11 17 22 28 33
(0,05) APt 2 3 7 12 19 27
102 31 4,1 61 8 10 12
L <20 22 33 40 50
KH 3 slots L=600 Verr 0,9 13 19 25 37
(0,0222) APt 2 4 9 16 35
102 26 34 5 67 98
L 20 27 37 a4 50
KH 3 slots L=1000 Ve 11 15 22 3 38
(0,037) APt 3 6 13 2 35
102 37 49 72 96 11,9
Lun <20 22 32 40 45 50
KH 3 slots L=1200 Verr 0,9 13 19 25 31 38
(0,0444) APt 2 4 9 16 2 35
102 34 44 65 86 10,7 128
L <20 <20 29 36 2 6 50
KH 3 slots L=1500 Ve 08 1 15 2 25 3 35
(0,0555) APt 1 3 6 10 16 23 31
102 29 39 5,7 76 94 11,2 13
L <20 21 29 34 39 23 6 49
KH 3 slots L=2000 Ve 08 11 15 19 23 26 3 34
(0,074) APt 1 3 6 9 13 17 2 29
102 33 48 64 79 95 1 125 14
Lun <20 26 33 43
KH 4 slots L=600 Ve 09 13 18 27
(0,0312) APt 2 5 9 19
102 28 41 55 8
Lun <20 20 30 38 43 48
KH 4 slots L=1000 Ve 08 11 16 21 27 32
(0,052) APt 2 3 7 12 19 27
102 31 a 59 79 98 11,7
L <20 25 33 39 43 47
KH 4 slots L=1200 Ve 09 13 18 22 27 31
(0,0624) APt 2 5 8 13 19 2
102 36 53 71 88 105 121
L <20 2 29 35 40 23 47 50
KH 4 slots L=1500 Ve 07 11 14 18 21 25 28 32
(0,078) apt 1 3 5 8 12 16 2 27
102 32 47 62 77 92 107 121 136
™ <20 2 28 32 36 40 23 8
KH 4 slots L=2000 Vet 08 11 13 16 19 21 24 29
(0,104) APt 2 3 5 7 9 12 15 2
102 39 52 65 78 9 103 115 14
L <20 20 27 37 45
KH 5 slots L=600 Ve 07 1 14 2 27
(0,0414) apt 1 3 5 12 21
102 24 35 46 68 9
™ <20 24 32 38 2 6 29
KH 5 slots L=1000 Vet 08 12 16 2 24 28 32
(0,069) APt 2 4 8 12 17 2 30
102 34 5 67 83 99 11,4 13
L <20 20 27 33 38 a1 5 8
KH 5 slots L=1200 Ve 07 1 13 17 2 23 27 3
(0,0828) apt 1 3 5 8 12 16 21 27
102 31 45 6 74 89 103 11,7 132
™ <20 24 29 34 38 21 24 29
KH S slots L=1500 Vet 08 11 13 16 19 21 24 3
(0,1035) APt 2 3 5 8 10 13 17 26
102 a 52 65 78 9 103 115 14
L <20 2 27 30 34 37 2
KH 5 slots L=2000 Ve 08 1 12 14 16 18 22
(0,138) apt 2 3 4 6 8 10 14
102 44 55 66 76 87 98 11,9

Data valid for:

- Supply air

- Isotherm conditions

- Throw with ceiling effect

Terminology:

-A, = effective free area

-V, = effective face velocity

- Opt = total pressure loss

- Lys = sound power level

- Ly, = throw to terminal velocity at 0,2 m/s




